(S YEARS 4

\\\ﬂ
USN e =) CMRIT

* CMR INSTITUTE OF TECHNOLOGY, BENGALURU.
ACCREDITED WITH A+ GRADE BY NAAC

Internal Assessment Test 3 — Nov. 2018

Sub: | Fluid Mechanics Sub Code: 15CV33 ‘ Branch: ‘ Civil
Date: | 22/11/2018 | Duration: | 90 mins | Max Marks: | 50 | Sem/Sec: Il AandB OBE
Answer any FIVE FULL Questions MARKS | CO [RBT
1 (a) Define Hydraulic Gradient Line and Total Energy Line. Explain with a neat [05] | CO5 | L2
sketch.
(b) Water flowing through a rigid pipe of diameter 500 mm with 1.5 m/s is 0s] | o5 12

suddenly brought to rest. Find the instantaneous pressure rise if
Kwater = 2 GPa

2 Derive an expression for pressure rise due to sudden closure of valve when the  [10] = CO3 | L2
pipe is elastic.

3 (a) Derive an expression for head loss due to sudden enlargement in a pipe flow. [05] | CO4 | L2

(b) Write a note on cippolletti weir. [05] | CO5 | L2

4 Derive the expression for discharge through a trapezoidal notch. [10] | COS5
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Two tanks are connected with help of two pipes in series. The lengths of pipes are
1000m and 800m respectively. The coefficient of friction for both the pipes is
0.008. The difference of water level in two tanks is 15m. Find the rate of flow
through pipes, considering all losses.

A rectangular notch 40 cm long is used for measuring a discharge of 30 Ips. An
error of 1.5 mm was made while measuring the head over the notch. Calculate the
percent error in the discharge. Take Cd = 0.6.

Derive the expression for discharge through a small orifice of area 'a' under a
head 'A' measured above the centre of the orifice.
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1000m and 800m respectively. The coefficient of friction for both the pipes is
0.008. The difference of water level in two tanks is 15m. Find the rate of flow
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A rectangular notch 40 c¢cm long is used for measuring a discharge of 30 Ips. An
error of 1.5 mm was made while measuring the head over the notch. Calculate the
percent error in the discharge. Take Cd = 0.6.

Derive the expression for discharge through a small orifice of area 'a' under a
head '4' measured above the centre of the orifice.
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